% 900 B H—tv(Signal)

Qe [ Di-jet . . ey

= 800 = wwoge  Slgnal definition
g 700 I evWojjev 70 < Mw < 90 (GeV)

= 22l 140 < Mrec < 160 (GeV)

W others 15 < Pt (GeV)

170 < Evis (GeV)

0.95 < |cos(w production angle)|
BDTvalue > - 0.675

120 130 140 150 160 170 180 190
Recoil Mass(GeV)

WH Di-jet evW->evjj WW=jjiv  ZZ-ijjll others
no cut 26803 11553700 111356 189596 116797 518315
after cut 7136 581 837 1729 863 95

efficiency = 26.6%, significance = 62.6, Fis,, = 0.14



AVAVAV,
2HDM, lepton specific type-X
10— . ——
V _ my result'
10-3: m_ =150 GeV —g 5% — O 14

| Fags,]? = 0.02

PI-T-lO = = ]
S —>we cannot confine
107k any region.
m =300 GeV
0 T T

tan[
(calculated by Kanemura-san)
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